Joint inversion: an experiment

A joint inversion: seismic and gravity on a volcano (active...)
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Joint inversion: an experiment

A joint inversion: seismic and gravity on a volcano (active...)
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‘ Joint inversion: an experiment
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‘ Joint inversion: an experiment

How to solve ?

2
HG.m—ded +Hm—m c, +HS—f(p)Hip

prior

data model coupling

Assume a linear coupling between p and S:
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Joint inversion: an experiment ‘
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Joint inversion: an experiment

Independent inversion, no coupling

inverted velocity
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Joint inversion: an experiment

Independent inversion, no coupling

traveltime
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Joint inversion: an experiment

Joint inversion: data fitting

inverted velocity
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Joint inversion: an experiment

Joint inversion: data fitting
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